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QUESTION 1

Within a WebSphere Application Server Network Deployment cell, a system administrator needs to write a script to
determine if a particular server is stopped. It is important that the wsadmin script explicitly return a status of stopped as
opposed to just failing. 

What wsadmin object should the administrator use to write this script? 

A. AdminApp 

B. AdminTask 

C. AdminConfig 

D. AdminControl 

Correct Answer: D 

Use the AdminControl object to invoke operational commands that manage objects for the application server. Many of
the AdminControl commands have multiple signatures so that they can either invoke in a raw mode using parameters
that are specified by Java Management Extensions (JMX), or by using strings for parameters. In addition to operational
commands, the AdminControl object supports some utility commands for tracing, reconnecting with a server, and
converting data types. 

References: https://www.ibm.com/support/knowledgecenter/en/SSAW57_8.5.5/com.ibm.websphere.nd.doc/ae/
rxml_admincontrol.html 

 

QUESTION 2

Which of the following comprises an initial Liberty profile server process? 

A. A single JVM, the Liberty kernel, and feature manager. 

B. A single JVM, and OSGI framework and an object request broker. 

C. an OSGI framework, a web container and an EJB container. 

D. AN administrative agent, the Liberty kernel and shared libraries. 

Correct Answer: A 

The server process comprises a single JVM, the Liberty kernel, and any number of optional features. 

References: https://www.ibm.com/support/knowledgecenter/SSEQTP_8.5.5/com.ibm.websphere.wlp.do c/ae/
cwlp_about.html 

 

QUESTION 3

A JAX-WS EJB stateless session bean web service needs to be accessed by consumers outside the corporate domain. 

Which configuration will help a system administrator meet the requirement? 
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A. Open firewall ports for both bootstrap and orb listener ports within the cell. 

B. Configure plug-in in the DMZ to send request to the cluster members. 

C. Configure on demand router (ODR) in the DMZ to send requests to the cluster members. 

D. Configure HTTP tunneling to send the client-side Object Request Broker (ORB) request to the server-side ORB. 

Correct Answer: A 

 

QUESTION 4

A system administrator decides to use the advice from the Performance and Diagnostic Advisor to identify the optimum
connection pool settings for data sources. In a cell, the data source db2datasource is defined under node scope and
used by two servers from that node. The administrator receives two different sets of advice for db2datasource. 

How should the administrator configure the data sources before reusing the Performance and Diagnostic Advisor? 

A. Create a data source of the same name under cell scope. 

B. Create a data source of the same name under server scope for each server. 

C. Increase the minimum connection pool size for the data source. 

D. Decrease the maximum connection pool size for the data source. 

Correct Answer: B 

References: https://www.ibm.com/support/knowledgecenter/SSAW57_8.5.5/com.ibm.websphere.nd.doc /ae/
cprf_rpa.html 

 

QUESTION 5

A system administrator is asked by a development team to monitor the performance of a newly deployed EJB
application. The administrator noticed that the heap size of the application server is growing. 

What should the administrator do to fix the problem using ORB settings? 

A. Use J2EE managed object MBeans. 

B. Enable the pass by reference option. 

C. Disable the application scoped resources in the application deployment descriptor. 

D. Ensure that Process embedded configurations is not selected when exporting the EAR. 

Correct Answer: B 

The Object Request Broker (ORB) pass by reference option determines if pass by reference or pass by value semantics
should be used when handling parameter objects involved in an EJB request. This option can be found in the
administrative console by navigating to Servers => Application Servers => server_name => Object Request Broker
(ORB). By default, this option is disabled and a copy of each parameter object is made and passed to the invoked EJB
method. This is considerably more expensive than passing a simple reference to the existing parameter object. 
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References: https://www.ibm.com/developerworks/websphere/techjournal/0909_blythe/0909_blythe.htm l#sec3e 
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